
PRELUDE® 24 MAX™ 
Suspension System – Data Centre Ceiling Solutions 
Assembly and Installation Instructions 

PMLC – Prelude 24 Max 
Load Connector
Used to support bus bars, cable trays, 
and other components with M10 threaded 
rod along the suspension system face

PMHC – Prelude 
Max Hanging Clip
Used to carry the 
system with M10 
threaded rod along 
the Main Runner 
and at intersections 
over the IJCA 

PMHC – Prelude 
Max Hanging Clip
Used for carrying
the ceiling system 
with M10 threaded 
rod from any
location along the 
Main Runner when 
plenum obstructions 
prevent installation
at the Main Runner 
Cross Tee

Prelude 24 Max Main Runners
and Cross Tees
24 mm face double Peakform bulb 
suspension system provides maximum 
load carrying capacity

M10 threaded 
rod to structure
 (1200 mm O.C. 
or as required)

Main Runner

IJCA – Intersection 
Joint Clip
Used to connect all 
Cross Tees together 
for rigid connection

Cross Tee

Cable Tray
(By others)

All Heavy Hex
M10 Nuts

150 mm max.

TLMBS – Top Lock 
Main Runner
Splice Clip
Locks two Main Runners
together for a secure 
connection. 
 Must be within 150 mm 
of an PMHC

SYSTEM OVERVIEW 

The Prelude® 24 MaxTM Suspension System is designed to offer flexible and            
reconfigurable support of cable trays, bus bars, hot aisle containment, and other 
hanging elements via M10 threaded rod connections to structure. 

 

The diagrams below provide an overview of the suspension system components, 
clips, and accessories. Some hardware needs to be purchased separately. Refer 
to page five for details.



2

HARDWARE THAT NEEDS TO BE PURCHASED SEPARATELY 

• 8 x 12 S-Points Screws for the Top Lock Main Runner Splice (TLMBS) Clips, 
and for Prelude Max Load Connector (PMLC) Clips 

• Plain Steel Blind Rivet, 3.5 mm diameter, 3.5 – 4.8 mm Grip Range, Shear 
Strength: 1150 N 

• M10 Threaded Rod for Connections to Structure 

• Blind Steel Pop Rivets 4.8 mm Diameter for installation of the TLMBS 

IMPORTANT NOTE: The Prelude 24 Max Load Connector item PMLC is               
designed to be used with Prelude 24 Max Suspension System only. They are 
designed for specific duty loads that are specified in the load charts provided 
in the Data Centre Ceiling Solutions Brochure. When hanging heavy loads 
greater than those specified in the load charts, consultation by a local engi-
neer is required. Also, please be sure to review the installation and securing 
recommendations for any load that will be supported by the suspension sys-
tem. Armstrong is not liable for improper use or improper installation of the 
Prelude 24 Max Suspension System or its components. 

Please refer to the load charts for specific information on the allowable loads 
for the suspension system in the Data Centre Ceiling Solutions Brochure. 

INSTALLATION CONSIDERATIONS 

The Prelude® 24 Max™ Suspension System is designed to be installed with 
M10 threaded rod from structure. 

1. Lay out the space, marking the locations of the hanger rods, Main Runners, 
and Cross Tees, and note any mechanicals that will be supported overhead. 
Be sure to follow the locations and direction of the threaded rod, hangers, 
Main Runners, Cross Tees of the engineering drawing if working from a            
Reflected Ceiling Plan from a specifying architect/engineer. If plumb threaded 
rod drops are not possible, then a trapeze or sub framing may be required. 
This sub or trapeze framing must be engineered to support the designed 
loads. You may also reference our trapeze chart in our Technical Guide. 

2. Install either Aluminium Heavy Duty: Wall Angle (item ALSWA1) or Shadow 
Line Wall Angle (item ALSWA4) as per details in our Data Centre Ceilings            
Solution Brochure Page 6. Fix the Heavy Duty Wall Angle to studs or structure 
at a maximum of 600mm centres. All  Cross Tees and Main Runners are to be 
connected to the Heavy Duty Wall Angle with an XTAC clip and fixing to the 
grid with 3.5mm steel pop rivets.  

IMPORTANT: Rivets are properly installed when the compressed rivet body                
protrudes a minimum of approx. 3 mm past the XTAC surface. 

 

 

 

 

 

 

 

 

 

 

2.a. Seismic designs are project specific. Contact your Armstrong Ceilings 
Technical Representative for additional information.  

 

 

 

 

3. Mark the locations of the Main Runners and Cross Tees on the wall angle. 

4. Install M10 threaded rod hangers into the soffit per the recommendations 
from the fastener manufacturer. Threaded hanger rods must be installed 
plumb with the Prelude Max Hanging Clip (PMHC) in all Main Runner-to-Cross 
Tee intersections 1200 mm O.C., unless otherwise specified. 

 

 

 

 

 

 

 

5. Insert the PMHC over the Main Runners and install M5 machine screws 
into holes through Main Runner and into the PMHC. Set the torque to a low 
torque on the drill motor for this process. 

NOTE: Clips must be replaced if any screws are stripped out. 

 

 

 

 

 

 

 

 

 

 

5.a. Thread the nut on the threaded rod per the installation detail. Tighten the 
M10 nuts until metal to metal contact is made and then turn an additional 1/4 
turn with a wrench. Use all hardware provided with the PMHC. Threadlocker is  
required and has been pre-applied for ease of install. 

 

 

 

 

 

 

 

 

 

 

6. Install the Cross Tees as they would be installed on any standard                 
suspension system.

Cross Tee
Adapter Clip

(XTAC)

(2) 
Screws

(2)
Pop Rivets

PMHC – Prelude Max Hanging Clip

PMHC – Prelude Max Hanging Clip

Heavy Hex M10 
Nut and Heavy Hex 
M10 Lock Nut



3

7. On every Main Runner-to-Cross Tee intersection and every 1200 mm Cross 
Tee-to-600 mm Cross Tee intersection, you must install an Intersection Joint 
Clip (IJCA). The IJCA is used to connect all Cross Tees together structurally.              
Attach the IJCA to the Cross Tees using four M5 machine screws and thread 
locker adhesive as shown below (Included with IJCA; do not substitute). All 
IJCAs running in the same line of grid need to be in the same orientation;     
facing the same direction. This will allow for easier ceiling panel installation. 

 

 

 

 

 

 

 

 

 

NOTE: New rod location must be carefully located so that the new span does 
not exceed allowable limit per engineer. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8. When a desired location for the threaded rod to structure cannot be 
achieved at intersections (due to obstructions in the plenum), the Prelude Max 
Hanging Clip (PMHC) can be used in other locations along the length of the 
Main Runner. All PMHC clips need to be installed in the same direction,                    
orientation as described above. 

 

 

 

 

 

 

 

 

 

 

 

9. Install the Top Lock Main Runner Splice (TLMBS) onto each Main Runner 
coupling to secure the connection using two S-Point screws and two blind 4.8 
mm steel pop rivets as shown in the detail below. Two holes must be drilled in 
the Main Runner to accomodate the two blind rivets. The Top Lock Main Run-
ner Splice is required at every Main Runner splice location in the field of the 
installation. 

IMPORTANT: To ensure rated load capacity, the threaded rod to              
structure must be installed within 150 mm of TLMBS as shown in the 
image above. 

IMPORTANT: Rivets are properly installed when the compressed rivet 
body protrudes a minimum of 3.2 mm past the TLMBS surface. 

NOTE: For rivet installation, installer must drill 4.8 mm holes through grid 
once the TLMBS is located. For rivet installation the installer must clamp the 
TLMBS in position, then drill the 4.8 mm holes through the grid. With the 
clamp still in place, pop-rivet the TLMBS and Main Runner connection. 

10. For perimeter treatment, rods must be located within 600 mm off the wall. 
Consult your engineer and the Technical Guide for more information.

Prelude 24 Max
1200 mm Cross Tee

PMHC
IJCA

Hanger Points

600 mm x 6
00 mm

1200 mm x 6
00 mm 

Hanger Points

PMHC – Prelude Max Hanging Clip

PMHC

125 mm

24 mm

62 mm
36 mm

M10
Heavy Hex
Nut
Included – Do Not Substitute

M10
Heavy Hex
Locknut
Included – Do Not Substitute

TLMBS – Top Lock
Main Runner Splice

150 mm max.

TLMBS –

Runner Splice Clip

Top Lock Main Runner Splice Clip Installation 
on two Prelude 24 Max Main Runners



NSW/ACT 
Armstrong Ceiling Solutions (Australia) Pty. Ltd. 
Unit 4, 1 Basalt Road, Pemulwuy NSW 2145 
Telephone (02) 9748 1588 
Facsimile (02) 9748 7244 
 
VIC/TAS 
Armstrong Ceiling Solutions (Australia) Pty. Ltd. 
Unit 1, 88 Henderson Road, Rowville VIC 3178 
Telephone (03) 8706 4000 
Facsimile 03) 8706 4040 

QLD/NT 
Armstrong Ceiling Solutions (Australia) Pty. Ltd. 
6 Barrinia Street, Slacks Creek QLD 4127 
Telephone (07) 3809 5565 
Facsimile (07) 3809 5507 
 
SA 
Total Building Systems Pty. Ltd. 
160 Grand Junction Road, Blair Athol SA 5084 
Telephone (08) 7325 7555 
Facsimile (08) 7325 7566 

WA 
Ceiling Manufacturers of Australia Pty. Ltd. 
5 Irvine Street, Bayswater WA 6053 
Telephone (08) 9271 0777 
Facsimile (08) 9272 2801 
 
New Zealand 
Forman Building Systems Ltd. 
27B Smales Road, East Tamaki, Auckland 2013                   
Telephone +64 (9) 276 4000                                      
Facsimile +64 (9) 276 4141 

www.armstrongceilings.com.au 
Email: scentre@armstrongceilings.com 

©2020 Armstrong Ceiling Solutions (Australia) Pty Ltd                    AWP0420                                                                                                               Produced 9 April 2020

11. Once all the Main Runners and Cross Tees are installed, verify that all 
connections on the Prelude Max Hanging Clip (PMHC)are tight and a thread 
locking compound was used before proceeding with the installation. A locking 
compound is not required, if using a locknut per the illustration on the PMHC 
connection. 

12. Locate the positions of the mechanical equipment (cable trays, bus bars, 
etc.) that are to be supported and attach the Prelude 24 Max Load Connector 
(PMLC) to the face of the suspension system. Slide the clip open and engage 
it on the face of the suspension system. Be sure the two halves of the clip fully 
engage the clip around the flange of the suspension system and are                     
interlocked together. 

 

 

 

 

 

 

 

 

 

 

13. Screw the Prelude 24 Max Load Connector (PMLC) clip to the suspension 
system using an 8 x 12 S-Point  screw as shown above. Be sure to screw 
from the larger hole (the pilot hole) into the smaller hole of the other clip. Only 
one screw is required to properly install the PMLC. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Install the threaded rod that will be used to support the load using the                
provided hardware as shown in the detail above. Hand tighten nuts 1 & 2 until 
metal to metal contact is made and then turn an additional 1/4 turn with a 
wrench. Then hand tighten nut 3 to nut 2 until metal to metal contact is made 
and then turn an additional 1/4 turn with a wrench. A thread locking compound 
is required for this connection if you do not use a locknut as shown in the       
detail above. Do not use standard M10 nuts. 

14. Install the ceiling panels 

15. If your project requires the Maximum Hold Down Clips, these will be             
installed in a progressive layout. Leave one panel unclipped for access to the 
plenum space, and then install the clips progressively from this panel. If there 
is a specific area of the plenum that will require more access, leave this as 
your unclipped panel. If access to other panels is needed, remove the clips in 
reverse order in which they were installed.

PMLC – Load Connector Clip

Heavy Hex 
Locknut
Included with PMLC – 
do not substitute.

1

M10 
Heavy Hex 
Nuts
Included with PMLC – 
do not substitute.

PMLC Clip

8 x 12
S-Point screw 

M10
Threaded Rod

Load Connector Clip Installation

 

2

3



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


